
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
CLASS : VIII

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. The Bharat Ratna is designed on a ....................... leaf.
\öç»Tö »±óö ×Eõ G$K÷» YçTöTö %e×EõTö Eõ»ç c÷Ì̂  ?
\öçÌ[ýTöÌ[ý±óö ×Eõ Gçä»K÷Ì[ý YçTöçÌ̂  %çgEõç c÷Ì̂  ?
(a) Peepal (b) Eucalyptus (c)  Agaru (d) Sandalwood

[ýOô +=ãEõ×_Y»OôçK÷/+=ãEõ×_Y»Oôça      %G»Ó / %GÌ[ýÓ $Jô³VX

2. Ramtanu Pandey was better known as ..................
»ç]TöXÇ Yçã‰ø ×Eõ Xçã]ã» %×WýEõ Y×»×$JôTö ?
Ì[ýç]TöXÇ Yçã‰ø ×Eõ Xçã] %×WýEõ Y×Ì[ý×»JôTö ?
(a) Mian Tansen (b) Bade Gulam Ali (c) Bismillah Khan (d) Pt. Bhimsen Joshi

×]AÕç TöçXãaX [ýäQÍö m_ç] %ç_Ý ×[ý$K÷×]{çc÷ FgçX Y×‰øTö \öÝ]ãaX å^ç`Ý

3. Paper currency first started in India in ...............
\öç»TöTö EõçGLÝ ]ÇVÐç åEõçX $JôXTö YÒU] %ç»�ö c÷Ì̂  ?
\öçÌ[ýãTö EõçGLÝ ]ÇVÐçÌ[ý YÒ»Jô_X ............................. aãX %çÌ[ý�ö c÷Ì̂ *
(a) 1862 (b) 1542 (c) 1601 (d) 1680

4. The city known as the "city of Lakes" in Rajasthan is ....................
»çLØšöçX» âÑ÷V XG»Ý c÷_ ..................
.............................. Ì[ýçLØšöçãXÌ[ý âÑ÷V XGÌ[ýÝ*
(a) Jaipur (b) Jodhpur (c) Udaipur (d) Ajmer

LÌ̂ YÇ» / LÌ̂ YÇÌ[ý å^çWýYÇ» / å^çWýYÇÌ[ý =VÌ̂ YÇ» / =VÌ̂ YÇÌ[ý %çL]Ý» / %çL]ÝÌ[ý

5. The Indian National Ambassadar to UNICEF is ......................
Tö_» åEõçXLX [ýî×Nþ UNICEF Tö \öç»Tö» »çrÑôVÉTö ?
UNICEF A \öçÌ[ýTöÝÌ̂  Ì[ýçrÑôVÉTö ................................*
(a) Shahrukh Khan (b) Salman Khan (c) Amir Khan (d) Hrithik Roshan

`Ÿçc÷»ÓF FgçX $K÷_]çX FgçX %ç×]» FgçX @×±¼öEõ å»ç`X
`çc÷Ì[ýÓF FçX a_]çX FçX %ç×]Ì[ý FçX @×±¼öEõ åÌ[ýç`X

6. The Bahai House of worship in Delhi is better known as :
×V{Ý» [ýçc÷ç+ ]×³V»Eõ %Xî ×Eõ Xçã]ã» LXç ^çÌ̂  ?
×V{ÝÌ[ý [ýçc÷ç+ ]×³VÌ[ýãEõ .......................... Xçã] LçXç ̂ çÌ̂ *
(a) Lotus Temple (b) Akshay Dham (c) Ganriya Math (d) Gayatri Mandir
     _»'Oôç»Jô æ»Oô¶Y_/_»Oôça æ»Oô¶Y_ %lùÌ^ Wýç] HS×»Ì^ç ]Pö / GX×Ì[ýÌ ç̂ ]Pö GçÌ̂ yÝ ]×³V» / GçÌ̂ yÝ ]×³VÌ[ý

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(2)

7. The Platinum Jubilee of an organisation is celebrated after the completion of ...................
åEõçãXç aeGPöX» ]c÷ç»LTö LÌ̂ Ü™öÝ ×Eõ]çX [ý$K÷» %×TöyÔ] Eõ»ç» Yç$K÷Tö =d^çYX Eõ»ç c÷Ì̂  ?
åEõçãXç aeGPöãXÌ[ý æYÀ×»OôXç] LÌ̂ Ü™öÝ .............................. [ý»K÷Ì[ý %×TöyÔ] EõÌ[ýçÌ[ý YÌ[ý =d^çYX EõÌ[ýç c÷Ì̂ *
(a) 50 Years (b) 60 years (c) 75 Years (d) 100 Years

50 [ý$K÷» / [ýK÷Ì[ý 60 [ý$K÷» / [ýK÷Ì[ý 75 [ý$K÷» / [ýK÷Ì[ý 100 [ý$K÷» / [ýK÷Ì[ý

8. Rain drops spread on the ground because of ..................
[ý»bÇS» æ$OôçYç_ ]ç×$OôTö Y×»ãÌ̂ + ×[ýÌ̂ ×Y ̂ çÌ̂  Eõç»S ................................*
[ýÊ×rôÌ[ý åZõç»Oôç ]ç×»OôãTö YãÌ[ý »K÷×QÍöãÌ̂  YäQÍö EõçÌ[ýX .............................*
(a) absorption by earth (b) surface tension of water

]ç×$OôãÌ̂  £×c ÷_Ì̂  / ]ç×»Oô [ýÊ×rôÌ[ý L_ £ãb ãXÌ̂ YçXÝ» YÊœö $OôçX/ Lã_Ì[ý YÊœö OôçX
(c) flowing down of water (d) liquid state of water

×XG×» é[ý ^çÌ̂  / L_ YÒ[ýç×c÷Tö c÷ãÌ̂  ^çÌ̂ YXÝÌ̂ ç åc÷ç¾ç [ýçã[ý / L_ TöÌ[ý_ %[ýØšöçÌ̂  UçãEõ

9. Dr. A.P.J. Abdul Kalam was originally a ..................
Qö0 A.×Y.ãL %çŒÇ_ Eõç_ç] ]É_Tö ALX ........................*
Qö0 A.×Y.ãL %çŒÇ_ Eõç_ç] ]É_Tö AEõLX ....................................*
(a) Doctor (b) Lawyer (c) Aeronautical Engineer (d) Scientist

QöçNþ» =EõÝ_ A»'X×$OôãEõ_ +×tXÝÌ̂ ç» é[ýpûçXÝEõ
QöçNþçÌ[ý =×Eõ_ AÌ[ýãXç×»OôãEõ_ +×tXÝÌ̂ çÌ[ý é[ýpûç×XEõ

10. Largest amount of fresh water is found in ...............
%×WýEõ Y×»]çãS ×[ý£ˆù YçXÝ åYç¾ç ^çÌ̂  .............*
%×WýEõ Y×Ì[ý]çãS ×[ý£ˆù� L_ YçC^ç ̂ çÌ̂  .......................*
(a) Lakes & streams (b) Underground (c) Polar ice (d) Rivers

×XL»ç %ç»Ó âÑ÷VTö \Éö-Tö_öTö å]»Ó %‡û_» [ý»ZõTö XVÝTö
âÑ÷V A[ýe XVÝãTö \Éö-Töã_ å]Ì[ýÓ %‡ûã_Ì[ý [ýÌ[ýãZõ XVÝãTö

11. Who is the associate of Anna Hazare in the movement for 'Lok Pal' in India to fight corruption ?
Tö_» åEõçXLX [ýî×Nþ VÉXÞÅ×Tö ×[ýã»çWýÝ "å_çEõYç_' %çã³Vç_X» %ç~ç c÷çLçã»» ALX %XîTö] ac÷ã^çGÝ ?
VÇXÞÅ×Tö ×[ýãÌ[ýçWýÝ å_çEõYç_ %çã³Vç_ãXÌ[ý %ç~ç c÷çLçãÌ[ýÌ[ý AEõLX %XîTö] ac÷ã^çGÝ ..............................*
(a) Uday Shankar (b) Arvind Kejriwal (c) Anant Desai (d) Kamala Bedi

=VÌ̂  `eEõ» %»×[ý³V åEõL×»¾ç_ %XÜ™ö åV`ç+ Eõ]_ç å[ýVÝ
=VÌ̂  `eEõÌ[ý %Ì[ý×[ý³V åEõL×Ì[ýCÌ̂ ç_

12. The partner of Leander Paes at the Australian Open 2012, where the Indian completed a career
Grand Slam in men's Doubles Tennis was ...................
2012 » %ärÑô×_Ì ç̂X ]ÇEõ×_ æOô×X$K÷ YÒ×Töã ç̂×GTöçTö åEõçãX ×_ãÌ^‰øç» åYL» ac÷ã ç̂GÝ éc÷ GÐç‰ø À̀ç] Qöç[ý_$JËô» ×FTöçY LÌ^ Eõ×»×$K÷_ ?
2012 AÌ[ý %ärÑô×_Ì ç̂X CãYX æ»Oô×Xa YÒ×Töã ç̂×GTöçÌ^ ............................. ×_ãÌ^‰øçÌ[ý åYãLÌ[ý ac÷ã ç̂GÝ c÷ãÌ^ GÐç‰ø ̀ Àç] Qöç[ý_ãaÌ[ý åFTöç[ý LÌ^ EõãÌ[ý*
(a) Radek Stepanek (b) Mahesh Bhupati (c) Somdev Devbarman (d) A.H. Qureshi

»çãQöEõ æºOôYçãXEõ ]ãc÷` \ÉöY×Tö åaç]åV[ý åV[ý]ïX A.A+$Jô EÇõã»`Ý
Ì[ýçãQöEõ æºOôYçãXEõ A.A+»Jô EÇõãÌ[ý`Ý
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13. Which of the following is the correct order of Teacher-student relationship among the following
Philosophers ?
Tö_» åEõçX åEõ+LX Vç`ï×XEõ m»Ó-×`bî» a¶YEïõ» £ˆù yÔ]Tö %çä$K÷ ?
XÝä»JôÌ[ý åEõçX Vç`ï×XEõÌ[ýç mÌ[ýÓ-×`bî a¶YãEïõÌ[ý £ˆù yÔã] %çäK÷ ?
(a) Socrates, Plato, Aristotle (b) Aristotle, Plato, Socrates

$JôãyÔ×$Oô$K÷, æYÀä$Oôç, A×»rô$Oô_ A×»rô$Oô_, æYÀä$Oôç, $JôãyÔ×$Oô$K÷
aãyÔ×»Oôa, æYÀä$Oôç, A×Ì[ýrô»Oô_ A×Ì[ýrôOô_, æYÀä$Oôç, aãyÔ×»Oôa

(c) Socrates, Aristotle, Plato (d) Plato, Aristotle, Socrates
$JôãyÔ×$Oô$K÷, A×»rô$Oô_, æYÀä$Oôç æYÀä$Oôç, A×»rô$Oô_, $JôãyÔ×$Oô$K÷
aãyÔ×»Oôa, A×Ì[ýrô»Oô_, æYÀä$Oôç æYÀä$Oôç, A×Ì[ýrô»Oô_, aãyÔ×»Oôa

14. The first Indian to be awarded the Oscar was .......................
åEõçX \öç»TöÝÌ̂ + YÒUã] %•õç» [ýg$Oôç _ç\ö Eõ×»×$K÷_ ?
.................. YÒU] \öçÌ[ýTöÝÌ̂  ×^×X %•õçÌ[ý YÇÌ[ý•õçÌ[ý _ç\ö EõãÌ[ýX*
(a) Satyajit Roy (b) A R Rahman (c) Bhanu Atthaiya (d) Ravishankar

aTöî×LTö »Ì̂ A %ç» »c÷]çX \öçXÇ %çUç+Ì̂ ç »[ýÝ`eEõ»
aTöî×LTö Ì[ýçÌ̂ A %çÌ[ý Ì[ýc÷]çX \öçXÇ %çUç+Ì̂ ç Ì[ý×[ý`eEõÌ[ý

15. Aims of Pulse Polio programme is .....................
Yç_$JËô Y×_% ×$OôEõçEõ»S» =ã�`î c÷_ ......................*
Yç_a Y×_C »OôÝEõçEõÌ[ýãSÌ[ý =ã�`î c÷_ ................................*
(a) Treatment of polio (b) To stop paralytic effect of polio

Y×_%» ×$Jô×Eõdaç Eõ»ç Y×_% å»çGTö YlùçHçTö» YÒ\öç¾ Xç+×EõÌ̂ ç Eõ»ç
Y×_CÌ[ý ×»Jô×Eõdaç EõÌ[ýç Y×_C åÌ[ýçãGÌ[ý YlùçHçãTöÌ[ý YÒ\öç[ý ×X]Éï_ EõÌ[ýç

(c) Complete eradication of polio (d) all of these
a¶YÉSïêEõ Y×_%' å»çG ×X]Éï_ Eõ»ç %ç$Oôç+ã[ýç»
a¶YÉSïÌ[ýÖãY Y×_C åÌ[ýçG ×X]Éï_ EõÌ[ýç a[ýEõÌ^×»Oô

16. Assam's largest mobile network by subscriber numbers is .....................
%a]Tö GÐçc÷Eõ» aeFîç %XÇa×» a[ýï[ýÊc÷d å]ç[ýç+_ åX$Oô¾Eïõ c÷_......................*
%çaçã] GÐçc÷ãEõÌ[ý aeFîç %XÇaçãÌ[ý a[ýï[ýÊc÷d å]ç[ýç+_ åX»OôCÌ̂ çEïõ c÷_ ............................*
(a) BSNL (b) Vodafone (c) Airtel (d) Reliance

×[ýA$JôAXA_ å\öçQöçãZõçX AÌ̂ ç»ä$Oô_ ×»_çãÌ̂ ‡û
×[ýAaAXA_ å\öçQöçãZõçX AÌ̂ çÌ[ýä»Oô_ ×Ì[ý_çãÌ̂ ‡û

17. 'D' voter means
'D' å\öç$Oôç» c÷_ .....................*
'D' å\öç»OôçÌ[ý c÷_ ....................*
(a) Double Voter (b) Doubtful Voter (c) Deshi Voter (d) Duplicate Voter

VÇ[ýç» Xç] UEõç å\öç$Oôç» aã³Vc÷LXEõ å\öç$Oôç» åV`Ý å\öç$Oôç» XEõ_ å\öç$Oôç»
VÇ+[ýçÌ[ý Xç] UçEõç å\öç»OôçÌ[ý aã³Vc÷ Ç̂Nþ å\öç»OôçÌ[ý åV`Ý å\öç»OôçÌ[ý XEõ_ å\öç»OôçÌ[ý
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18. The chairman of the Indian planning commission is .................
\öç»Tö» Y×»Eõ”Xç %çãÌ̂ çG» a\öçY×Tö åEõçX ?
\öçÌ[ýãTöÌ[ý Y×Ì[ýEõ”Xç %çãÌ^çãGÌ[ý a\öçY×Tö ...............................*
(a) The Prime Minister (b) The Finance Minister (c) The President (d) The Speaker

YÒWýçX ]Ü—öÝ ×[ýwø]Ü—öÝ      »çrÑôY×Tö / Ì[ýçrÑôY×Tö %Wýîlù

19. One-third of the members of the Rajya Sabha retire after every ......................
AEõ TÊö×TöÌ̂ çe` »çLîa\öç» aVaî ×Eõ]çX [ý$K÷»» ]Éã» ]Éã» %[ýa»YÒçŠ c÷Ì̂  ?
Ì[ýçLîa\öçÌ[ý AEõ-TÊöTöÝÌ̂ çe` aVaî ....................... YÌ[ýYÌ[ý %[ýaÌ[ýYÒçŠ c÷Ì̂ *
(a) one year (b) two years (c) three years (d) five years

AEõ [ý$K÷» VÇ+ [ý$K÷» ×Tö×X [ý$K÷» Ygç$Jô [ý$K÷»
AEõ [ý»K÷Ì[ý VÇ+ [ý»K÷Ì[ý ×TöX [ý»K÷Ì[ý Ygç»Jô [ý»K÷Ì[ý

20. Besides the Dog which of the following animals also causes rabies ?
EÇõEÇõ»» =Y×»C åEõçX LÜ™Çö» ¥ç»ç L_çTöáø å[ý]ç» c÷[ý Yçã» ?
EÇõEÇõÌ[ý »K÷çQÍöçC åEõçX LÜ™Çö åUãEõ L_çTöáø åÌ[ýçG c÷ãTö YçãÌ[ý ?
(a) Donkey (b) Bat (c) Horse (d) Crocodile

GçWý [ýçVÇ×_ åHgç»ç Hg×»Ì̂ ç_
GçWýç [ýçVÇQÍö åHçQÍöç EÇõ]ÝÌ[ý

21. Which of the following is known as the "friend of the farmers" ?
EÊõbEõ» [ýµÇù .....................*
.......................................... EÊõbãEõÌ[ý [ýµÇù*
(a) Earth worm (b) fertilizer (c) Pesticide (d) Manure

åEõg$JÇô »çaçÌ̂ ×XEõ aç» EõÝ$OôXç`Eõ Y$JôX aç»
Ì[ýçaçÌ̂ ×XEõ açÌ[ý Y»JôX açÌ[ý

22. The country that celebrates Christmas festival in summer season is ...................
åEõçX åV`Tö G»] ×VXTö [ý»×VX =d^çYX Eõã» ?
................................... åVã` GÌ[ý]×VãX [ýQÍö×VX =d^çYX EõÌ[ýç c÷Ì̂ *
(a) Australia (b) Canada (c) Mexico (d) Italy

%ärÑô×_Ì̂ ç EõçXçQöç å]×jãEõç +$Oôç_Ý

23. The title given to their Prime Ministers by the Ahom Kings was ................
%çãc÷ç] »Lç aEõã_ YÒWýçX ]Ü—öÝLXEõ ×Eõ =Yç×Wý YÒVçX Eõ×»×$K÷_ ?
%çãc÷ç] Ì[ýçLçÌ[ý ×VãX YÒWýçX ]Ü—öÝãEõ ....................... =Yç×Wý YÒVçX EõÌ[ýç c÷Ì̂ *
(a) Borgohain (b) Burha Gohain (c) Barpatra Gohai (d) Barphukan

[ý»ãGgçc÷ç+ [ýÇ$RÍôçãGgçc÷ç+ [ý»Yçy åGgçc÷ç+ [ý»ZÇõEõX
[ýÌ[ýãGgçc÷ç+ [ýÌ[ýYçy åGgçc÷ç+ [ýÌ[ýZÇõEõX
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24. An organisation's introductory web page is called ............
A×$Oô aeØšöç» å¾[ý» YçTö×X YÊœöçEõ ............................. å[ýçã_*
AEõ×»Oô aeØšöçÌ[ý CãÌ̂ ã[ýÌ[ý YÒçU×]Eõ YÊœöçãEõ .......................... [ýã_*
(a) Portal (b) Vortal (c) Homepage (d) Website

åYç$OôÛç_ å\öç$OôÛç_ åc÷ç]ãYL å¾[ý$Jôç+$Oô / CãÌ̂ [ýaç+»Oô

25. What is the full of AVSM ?
AVSM » a¶YÉSï »ÖY ×Eõ ?
AVSM AÌ[ý a¶YÉSï Ì[ýÖY ×Eõ ?
(a) Ati Visesh Seba Medal (b) Ati Vishist Seva Medal

%×Tö ×[ýã`b åa¾ç å]ãQö_ %×Tö ×[ý×`rô åa¾ç å]ãQö_
%×Tö ×[ýã`b åa[ýç å]ãQö_ %×Tö ×[ý×`rô åa[ýç å]ãQö_

(c) Ajivan Visesh Seva Medal (d) Ajivan Vikash Medal
%çLÝ¾X ×[ýã`b åa¾ç å]ãQö_ %çLÝ¾X ×[ýEõç` å]ãQö_
%çLÝ[ýX ×[ýã`b åa[ýç å]ãQö_ %çLÝ[ýX ×[ýEõç` å]ãQö_

General English
26. Was it ……………… expensive to buy ?

(a) So                    (b) very                            (c) too                   (d)   all of these can be used here.

27. Both the answers are wrong. ( Begin this sentence with  neither …. )
(a) Neither of the two answers are wrong (b) Neither of the two answers are right
(c) Neither of the two answers is right (d) Neither answers are wrong.

28. The Government provides the school children ----------- free mid-day meals.
(a) for (b) with (c) to (d) by

29. Weather  ……………………….. this always depresses me.
(a) as (b) such as (c) like (d) of

30. Can you remember  …………… ?
(a) What did she say (b) what she said. (c) what had she  said (d) that she  said ?

31. You haven't got a sister ,  ………… ?    ( Add a tag question)
(a) don't you (b) do you (c) have you (d) haven't you

32. I have seen   ………………….
(a) Many chairs made of wood (b) Many utensils made from steel
(c) Many cars made from Japan (d) Many cakes made of flour, butter and sugar
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33. Ankit is  …………………………
(a) Not old enough to work with machines (b) Not old enough going to school
(c) Not enough old to do metal work (d) Not enough old to go there

34. If this proposal falls  …………………. , we shall be in trouble.
(a) Through (b) out (c) over (d) in

35.  There was a huge  turn ………………….. at the stadium for the football match.
(a) Over (b) out (c) off (d) on

36. The room will get wet ………………. it rains ………………….. the windows are closed.
(a) If, until (b) where, unless (c) if, unless (d) where, until

37. Remember to bring enough money with you ……………………. you go.
(a) Whenever (b) wherever (c) whichever (d) however

38. Lizy is still playing and she has not    ……………………  her  lunch yet.
(a) has (b) have (c) had (d) having

39. The book …………………… of five chapters.
(a) Makes (b) comprises (c) consists (d) has

40. When I was at the primary school my grandmother ………………..  me to school everyday.
(a) Was taking (b) used to take (c) takes (d) is taking

41.  The teacher gave me a pen . ( Find out the Direct object )
(a) Teacher (b) me (c) gave (d) a pen

42. The teacher gave me a pen . ( Find out the indirect object )
(a) Teacher (b) me (c) gave (d) a pen

43. The kidnapers are demanding a  ……………………. of five lakh rupees from the victim's family.
(a) money (b) price (c) reward (d) ransom

44. When he was charged in court for theft, he ……………………… not guilty.
(a) pleaded (b) declared (c) shouted (d) announced

45. The poem is written in a very lucid style . Lucid means ……….
(a) stylish (b) complicated (c) elaborate (d) clear

46. Your master will like you if you are diligent.  Diligent means ……….
(a) obedient (b) sincere (c) hard-working (d) honest

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(7)

47. That was a dauntless action. The word  opposite in meaning to dauntless is ………….
(a) brave (b) cowardly (c) bold (d) fearless

48. She is slender in figure. The word opposite in meaning to slender is  ……….
(a) slim (b) stout (c) well-built (d) strong

49. He is a young man of great courage and will take the bull by the horns. The meaning of the idiom in
bold italics is ………….
(a) To face difficulty boldly (b) He has the strength to fight a bull
(c) He can blow the horn close to a bull. (d) He can easily run away from an angry bull

50. We go to a picture hall once in a blue moon. The meaning of the idiom in bold italics is ..................
(a) Every full moon evening (b) once in every fifteen days
(c) rarely (d) whenever the moon turns blue in colour.

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

51. If :p  every fraction is a rational number and :q  every rational number is a fraction, then which
of the following is correct ?
^×V :p  aEõã_ç \öGÂçe`+ Y×»ã]Ì̂  aeFîç c÷Ì̂  %ç»Ó :q  aEõã_ç Y×»ã]Ì̂  aeFîç+ \öGÂçe` c÷Ì̂ , åTöãÜ™ö Tö_» åEõçXä$Oôç aTöî ?
^×V :p  aEõ_ \öGÂçe`+ Y×Ì[ýã]Ì̂  aeFîç c÷Ì̂  A[ýe :q  aEõ_ Y×Ì[ýã]Ì̂  aeFîç+ \öGÂçe` c÷Ì̂ , Töã[ý XÝä»JôÌ[ý åEõçX×»Oô aTöî ?
(a) p  is true and q  is false (b) p is false and q  true

p aTöî %ç»Ó q ×]$K÷ç p  ×]$K÷ç %ç»Ó q  aTöî
p aTöî A[ýe q ×]Uîç p ×]Uîç A[ýe q aTöî

(c) both p  and q  true (d) both p  and q  are false
p  %ç»Ó q  =\öãÌ̂  aTöî p  %ç»Ó q  =\öãÌ̂  ×]$K÷ç
p A[ýeq  VÇ×»Oô+ aTöî p  A[ýe q  VÇ×»Oô+ ×]Uîç

52. The average of the middle two rational numbers, if 4
7 , 1

3 , 2
5 , 5

9  are arranged in ascending
order, is ...........

^×V 
4
7 , 1

3 , 2
5 , 5

9  Eõ =ˆùÛyÔ]Tö aãLç¾ç ^çÌ̂  åTöãÜ™ö +Ì̂ ç» ]çL» Y×»ã]Ì̂  aeFîç VÇ$Oôç» GQÍö ......................... c÷[ý*

^×V 
4
7 , 1

3 , 2
5 , 5

9  åEõ =ˆùÛyÔã] açLçãXç c÷Ì̂  Töã[ý +c÷çÌ[ý ]ãWýîÌ[ý Y×Ì[ýã]Ì̂  aeFîç VÇ×»OôÌ[ý GQÍö ........................ c÷ã[ý*

(a) 86
90 (b) 86

45 (c) 43
45 (d) 43

90

53. 2
3 rd of a number when multiplied by 3

4 th of the same number make 338. The number is ........
A$Oôç aeFîç» VÇ+ TÊöTöÝÌ̂ çe` aeFîçä$Oôç» ×Tö×X-$JôTÇöUïçe`» _GTö YÉ»S Eõ×»ã_ 338 c÷ã_ aeFîçä$Oôç c÷[ý ....................*
AEõ×»Oô aeFîçÌ[ý VÇ+ TÊöTöÝÌ̂ çe` aeFîç×»OôÌ[ý ×TöX-»JôTÇöUïçeã`Ì[ý açãU YÉÌ[ýS EõÌ[ýã_ YÉÌ[ýSZõ_ 338 c÷ã_ aeFîç×»Oô c÷_ ....................*
(a) 18 (b) 24 (c) 36 (d) 26
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54. If 2 75 0
9

d 
  , then d = ?

^×V 
2 75 0

9
d 

   c÷Ì̂ , åTöãÜ™ö d = ?

^×V 
2 75 0

9
d 

   c÷Ì̂ , Töã[ý d = ?
(a) 19 (b) 14 (c) 9 (d) 7

55. Find the value of y in the following figure.
Tö_Tö ×VÌ̂ ç ×$Jôyä$OôçTö y » ]çX ×XSïÌ̂  Eõ»ç*
XÝä»Jô åVCÌ̂ ç ×»Jôäy y AÌ[ý ]çX ×XSïÌ̂  EõÌ[ý*

)

200

)

)

)1100

500

Y

(a) 1800 (b) 400 (c) 1100 (d) 600

56. The diagonal of a rectangle is thrice of its smaller side. The ratio of its sides is .......................
A$Oôç %çÌ̂ Töãlùy» EõSï +Ì̂ ç» lÇùVÐTö] [ýç§» ×Tö×XmS c÷ã_, +Ì̂ ç» [ýç§ VÇ$Oôç» %XÇYçTö ............................... c÷[ý*
AEõ×»Oô %çÌ̂ TöãlùäyÌ[ý EõSï +c÷çÌ[ý lÇùVÐTö] [ýç§Ì[ý ×TöXmS c÷ã_, +c÷çÌ[ý [ýç§ VÇ×»OôÌ[ý %XÇYçTö ....................... c÷ã[ý*
(a) 2 :1 (b) 2 2 :1 (c) 3:1 (d) 3 :1

57. Which of the following statements is true ?
Tö_» åEõçXä$Oôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX =×Nþ×»Oô aTöî ?
(a) The diagonals of a rectangle are perpendicular

%çÌ̂ Töãlùy» EõSïã[ýç» Y»&» _¶‘ö / %çÌ̂ TöãlùäyÌ[ý EõSïm×_ YÌ[ý&Ì[ý _¶‘ö
(b) The diagonals of a rhombus are equal

»¶‘öç$Jô» EõSïã[ýç» a]çX / Ì[ý¶‘öçãaÌ[ý EõSïm×_ a]çX
(c) Every square is a rhombus

YÒ×Töä$Oôç [ýGï+ »¶‘öç$K÷ / YÒ×Tö×»Oô [ýGï+ Ì[ý¶‘öça
(d) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

58. Square root of 0.081 0.484 2.5
0.0064 6.25 12.1

   is ..........................

0.081 0.484 2.5
0.0064 6.25 12.1

   » [ýGï]É_ ...................................

0.081 0.484 2.5
0.0064 6.25 12.1

   AÌ[ý [ýGï]É_ ..............................

(a) 0.45 (b) 0.75 (c) 0.95 (d) 0.99
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59. The square root of a perfect square number containing ' 'n  digits has ................ digits.
' 'n  %eEõ ×[ý×`rô YÉSï [ýGï aeFîç A$Oôç» [ýGï]É_ ........................ %eEõ ×[ý×`rô*

' 'n  %eEõ ×[ý×`rô AEõ×»Oô YÉSï [ýGï aeFîçÌ[ý [ýGï]É_ ............................. %eãEõÌ[ý*

(a) 1
2

n  (b) 2
n (c) a or b (d) None of these

a %U[ýç b A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

60. If 3 =1.732, then the approximate value of 
1
3  is ..............

^×V 3 =1.732, c÷Ì̂ , åTöãÜ™ö 
1
3 » %ça~ ]çX .................

^×V 3 =1.732, c÷Ì̂  Töã[ý 
1
3  AÌ[ý %ça~ ]çX

(a) 0.617 (b) 0.313 (c) 0.577 (d) 0.173

61. The square of a natural number subtracted from its cube is 48. The number is ..........
A$Oôç Ø‘öç\öç×¾Eõ aeFîç» [ýGï +Ì̂ ç» HS» Y»ç ×[ýãÌ̂ çG Eõ×»ã_ 48 c÷Ì̂ * aeFîçä$Oôç c÷_ ................................
AEõ×»Oô Ø‘öç\öç×[ýEõ aeFîçÌ[ý [ýGï +c÷çÌ[ý HX åUãEõ ×[ýãÌ̂ çG EõÌ[ýã_ 48 c÷Ì̂ * aeFîç×»Oô c÷_ .................................
(a) 6 (b) 5 (c) 4 (d) 8

62. The CI on ®ú 16,000 at 15% p.a. for 2 years is ................
16,000 $OôEõç» [ý$K÷×» 15% c÷çã» 2 [ýK÷» ×]`Ò aÉTö ......................................
16,000 »OôçEõçÌ[ý 15% c÷çãÌ[ý 2 [ý»K÷ãÌ[ýÌ[ý ×]`Ò aÇV .........................
(a) ®ú 6,418 (b) ®ú 5,000 (c) ®ú 22,218 (d) ®ú 6,218

63. If a merchant estimates his profits at 20% of the selling price, what is his real profit percent ?
ALX å[ýYç»ÝãÌ̂  ^×V ×[ýyÔÝ ]É_î» 20% _ç\ö ×c÷$JôçãY Wýç ï̂î Eõã» åTöãÜ™ö åTöCg» YÒEÊõTö _ç\ö ×Eõ]çX `Töçe` ?
AEõLX [ýî[ýaçÌ̂ Ý ^×V ×[ýyÔÌ̂  ]Éã_îÌ[ý 20% _ç\ö ×c÷açã[ý Wýç ï̂î EõãÌ[ý Töã[ý Töçc÷çÌ[ý YÒEÊõTö _ç\ö EõTö `Töçe` ?
(a) 25% (b) 20% (c) 22% (d) None

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

64. If 1 1 1
2 2 2 0a b c    then the value of 2 2 2( )a b c   is ...................

^×V 1 1 1
2 2 2 0a b c    c÷Ì̂ , åTöãÜ™ö 2 2 2( )a b c   » ]çX .........................

^×V 1 1 1
2 2 2 0a b c   c÷Ì̂ , Töã[ý 2 2 2( )a b c  AÌ[ý ]çX .................................

(a) 2ab (b) 2bc (c) 4ab (d) 4ac

65. The value of 1 1 11
8 16 3242 .4 .16 .(256)  is

1 1 11
8 16 3242 .4 .16 .(256)  » ]çX .............................................
1 1 11
8 16 3242 .4 .16 .(256)  AÌ[ý ]çX .............................................

(a) 1 (b) 2 (c) 4 (d) 8
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66. If, 2 2 2 2( 3 5)( 3 5)x x x x m n       then m = ............
^×V 2 2 2 2( 3 5)( 3 5)x x x x m n       c÷Ì̂ , åTöãÜ™ö m = ............
^×V 2 2 2 2( 3 5)( 3 5)x x x x m n       c÷Ì̂  Töã[ý m = ............
(a) 2 3x x (b) 3x (c) 2 5x  (d) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

67. The value of 5 5
4 4(0.000064) (0.04)  is ..............

5 5
4 4(0.000064) (0.04) » ]çX ............................
5 5
4 4(0.000064) (0.04)  AÌ[ý ]çX ..........................................

(a) 10 102 .0 (b) 10 102 .10 (c) 10 102 .10 (d) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

68. In a parallelogram, if A =650, then B , C  and D  are respectively ....................
A$Oôç aç]çÜ™ö×»Eõ» ̂ ×V A =650 c÷Ì̂ , åTöãÜ™ö B , C  %ç»Ó D yÔã] .............................................
AEõ×»Oô aç]çÜ™ö×Ì[ýãEõÌ[ý ^×V A =650 c÷Ì̂  Töã[ý B , C A[ýe D  yÔã] ...................................
(a) 1150, 650, 1150 (b) 1120, 650, 1120 (c) 1100, 600, 1100 (d) None of these

A$OôçC Xc÷Ì̂  /AEõ×OôC XÌ̂

69. The pie chart shows the number of fruits sold in a shop. Given that the number of apples is 180
and the number of oranges is 400, the value of x  in degree is ................
Tö_» Yç+ ×$Jôy+, åVçEõçX AFXTö ×[ýyÔÝ åc÷ç¾ç Zõ_-]É_» aeFîç åVFÇ¾ç+ä$K÷* ^×V %çãY_» aeFîç 180 %ç»Ó Eõ]_ç» aeFîç
400 c÷Ì̂ , åTöãÜ™ö x » ]çX ×QöGÐÝ ]çYTö c÷[ý ..........................
XÝä»JôÌ[ý Yç+ ×»Jôäy AEõ×»Oô åVçEõçãX ×[ýyÔÝ c÷CÌ̂ ç Zõ_]Éã_Ì[ý aeFîç åVFçãXç c÷_* ̂ ×V %çãYã_Ì[ý aeFîç 180 A[ýe Eõ]_çÌ[ý aeFîç
400 c÷Ì̂  Töã[ý, x  AÌ[ý ]çX ×QöGÐÝãTö c÷ã[ý ..............

(a) 60 (b) 70 (c) 160 (d) 200

70. Which of the following is true ?
Tö_» åEõçXä$Oôç aTöî ?
XÝä»JôÌ[ý åEõçX×»Oô aTöî ?

(a) 1 13 27 3
8 2
 (b) 2 5 10( )( )y y y (c) 2 4 5

6 3
m

m


 (d)
2 3 1
9 6 3

p q
q p





X
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71. The total length of edges of the following cube is .................... cm
Tö_Tö ×VÌ̂ ç HXEõ» Vgç×Tö åEõ+$Oôç» ]ÇPö éVHïî ................................. æ$K÷.×].
XÝä»Jô åVCÌ̂ ç HXãEõÌ[ý YÒçÜ™öm×_Ì[ý å]ç»Oô éVHïî ............................ åa.×]

= =

==

= =

=
=

=

2cm

(a) 18 (b) 24 (c) 30 (d) 32

72. If the cost of ' 'x  meters of wire is ' 'd  then what is the cost of ' 'y  cm of wire at the same rate ?
^×V ' 'x  ×]$Oôç» Tgöç»» Vç] ' 'd  c÷Ì̂ , åTöãÜ™ö AãEõ Vç]Tö ' 'y  æ$K÷f ×]$Oôç» Tgöç»» Vç] ×Eõ]çX c÷[ý ?
^×V ' 'x  ×]»OôçÌ[ý TöçãÌ[ýÌ[ý Vç] ' 'd  c÷Ì̂ , Töã[ý AEõ+ Vçã] ' 'y  åaf ×]f TöçãÌ[ýÌ[ý Vç] c÷ã[ý ......................*
(a) 100

xy
d (b) 100

xy (c) 100
y

x (d) None of these
A$OôçC Xc÷Ì̂  /AEõ×»OôC XÌ̂

73. Factors of 4 2( 1)a a   are ............
4 2( 1)a a  » =dYçVEõ .................
4 2( 1)a a   AÌ[ý =dYçVEõ .................

(a) ( 4)( 2)a a      (b) 2 2( 1)( 2)a a a a    (c) 2 2( 1)( 1)a a a a    (d) 2( 1)( 1)a a a  

74. Which of the points below is a point on the y -axis ?
Tö_» åEõçXä$Oôç ×[ý³VÇ y  %lùTö Uç×Eõ[ý ?
XÝä»JôÌ[ý åEõçX×»Oô ×[ý³VÇ y  %lùãTö UçEõç AEõ×»Oô ×[ý³VÇ ?
(a) (5,0) (b) (6,5) (c) (3,12) (d) (0,11)

75. Which of the following is a multiple of all the numbers from 1 to 10 ?
Tö_» åEõçXä$Oôç 1 » Y»ç 10 é_ aEõã_ç aeFîç» m×STöEõ ?
XÝä»JôÌ[ý åEõçX×»Oô 1 åUãEõ 10 Y ï̂Ü™ö aEõ_ aeFîçÌ[ý m×STöEõ ?
(a) 5040 (b) 1260 (c) 720 (d) 1440

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. Which of the following statements is not true ?
Tö_» åEõçXä$Oôç =×Nþ aTöî Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX =×Nþ×»Oô aTöî XÌ̂  ?
(a) S.I. unit of pressure is pascal (b) S.I. unit of force is newton

$JôçY» A$K÷. %ç+. AEõEõ c÷_ Yç$K÷ãEõ_ [ý_» A$K÷. %ç+. AEõEõ ×X=$OôX
»JôçãYÌ[ý Aa, %ç+, AEõEõ c÷_ YçaãEõ_ [ýã_Ì[ý Aa %ç+ AEõEõ ×X=»OôX

(c) Pressure increases with height (d) S.I. unit of pressure is newton/m2

=¬JôTöç [ýç×$RÍôã_ $JôçY [ýçä$RÍô $JôçY» A$$K÷. %ç+. AEõEõ ×X=$OôX/×]2

=¬JôTöç [ýçQÍöã_ »JôçY [ýçäQÍö »JôçãYÌ[ý Aa, %ç+, AEõEõ ×X=$OôX/×]2
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77. Which of the following is not a type of force ?
Tö_» åEõçX×[ýWý [ý_» YÒEõç» Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×»Oô [ýã_Ì[ý YÒEõçÌ[ý XÌ̂  ?
(a) Muscular (b) Magnetic

åY`Ý [ý_ $JÇô¶‘öEõÝÌ̂  [ý_
åY`Ý [ý_ $JÇô¶‘öEõÝÌ̂  [ý_

(c) Chemical (d) Pulling a bucket of water from a well
»çaçÌ̂ ×XEõ EgÇõ¾ç» Y»ç [ýç×·Oôã» YçXÝ =äPöç¾ç
Ì[ýçaçÌ̂ ×XEõ EgÇõÌ̂ ç åUãEõ [ýç_×»Oô ×VãÌ̂  =PöçãXç L_

78. A meteor burns up on entering earth's atmosphere due to ......................
.................. » [ýçã[ý =’õç A$Oôç YÊ×U¾Ý» [ýçÌ̂ Ç]‰ø_Tö YÒã¾` Eõ»ç» _ãG-_ãG L�×_ =äPö*
................ AÌ[ý LXî =’õç AEõ×»Oô YÊ×U[ýÝÌ[ý [ýçÌ̂ Ç]‰øã_ YÒã[ý` EõÌ[ýçÌ[ý açãU açãU L�ã_ =äPö*
(a) atmospheric pressure (b) heat of the earth

[ýçÌ̂ Ç ]‰ø_ÝÌ̂  $JôçY \Éö-TöçY

(c) solar radiation (d) excessive friction
åaì» ×[ý×Eõ»S / åaìÌ[ý ×[ý×EõÌ[ýS %Töîç×WýEõ HbïS

79. In which of the three media, air, water and steel does sound travel the fastest ?
[ýçÌ̂ Ç, YçXÝ %ç»Ó TöÝFç A+ ×Tö×X$Oôç ]çWýî]» åEõçXä$OôçTö `Œ» å[ýG %ç$Oôç+TöêEõ å[ý×$K÷ ?
[ýçÌ̂ Ç, L_ A[ýe +&çTö-- A+ ×TöX×»Oô ]çWýîã]Ì[ý åEõçX×»OôãTö `ãŒÌ[ý å[ýG a[ý»Jôç+ãTö å[ý`Ý ?
(a) Air (b) Water (c) Steel (d) None of these

[ýçÌ̂ Ç YçXÝ TöÝFç A$OôçC Xc÷Ì̂
[ýçÌ̂ Ç L_ +&çTö AEõ×»OôC XÌ̂

80. Current is the flow of .......................
.............................. YÒ¾ç×c÷Tö åc÷ç¾çãEõ YÒ¾çc÷ å[ýçã_*
YÒ[ýçc÷ c÷_ ......................... AÌ[ý YÒ[ýç×c÷Tö c÷CÌ̂ ç*
(a) matter (b) electrons (c) protons (d) charge

YVçUï +ã_Eõ®ÏôX YÒ$OôX %çWýçX

81. Earthing is provided in buildings to protect it from ......................
%vôç×_Eõç a]Éc÷Eõ ........................... » Y»ç [ýK÷ç[ýê_ %ç×Uïe [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
%vôç×_Eõç a]Éc÷ãEõ ............................ AÌ[ý c÷çTö åUãEõ [ýç»JôçãXçÌ[ý LXî %ç×Uïe AÌ[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
(a) lightning (b) leakage of electric current

[ýqYçTö ×[ýVÇîd YÒ[ýçc÷ ×XGï]X

(c) cyclone (d) thunderstorm
HÉSÞ[ýTöçc÷ æRôã»Eõ×Xã» %c÷ç WýÇ]Çc÷ç-[ý»bÇS
HÉXÞ[ýçTöça [ýqYçTöac÷ MõQÍö[ýÊ×rô
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82. If the angle of incidence is 500, then calculate the angle between the incidence ray and
reflected ray.
^×V %çYTöX åEõçS» ]çX 500 c÷Ì̂ , åTöãÜ™ö %çY×TöTö »×`½ %ç»Ó YÒ×TöZõ×_Tö »×`½» ]çL» åEõçS» ]çX ×XSïÌ̂  Eõ»ç*
^×V %çYTöX åEõçãXÌ[ý ]çX 500 c÷Ì̂ , Töã[ý %çY×TöTö Ì[ý×`½ A[ýe YÒ×TöZõ×_Tö Ì[ý×`½Ì[ý ]ãWýîÌ[ý åEõçãXÌ[ý ]çX ×XSïÌ̂  EõÌ[ý*
(a) 500 (b) 1000 (c) 1300 (d) 800

83. Galaxies .............................
Töç»Eõç»çLî ã[ýç» ...................................
TöçÌ[ýEõçÌ[ýçLîm×_ ................................
(a) move toward each other (b) move away from each other

+ä$Oôç-×aä$Oôç» Eõçb $Jôç×Yä$K÷ +ä$Oôç-×aä$Oôç» Y»ç %çgTö×» éG %çä$K÷
AEõ×»Oô %YÌ[ý×»OôÌ[ý Eõçä»K÷ %çaä»K÷ AEõ×»Oô %YÌ[ý×»Oô åUãEõ VÉãÌ[ý aãÌ[ý ^çä¬K÷

(c) do not move at all (d) none of these
åEõçãXç YãWýî G×Tö XEõã» A$OôçC Xc÷Ì̂
åEõçX\öçã[ý+ åHçÌ[ýçãZõÌ[ýç EõãÌ[ýXç AEõ×»OôC XÌ̂

84. Artificial wool is known by the name .....................
EÊõ×Åy] >X ................ Xçã]ã» LXçLçTö*
EÊõ×Åy] =_ .................... Xçã] LçXç ^çÌ̂ *
(a) rayon (b) acrylic (c) polycot (d) none of these

å»Ì̂ X AEõ×»×_Eõ Y×_Eõ$Oô A$OôçC Xc÷Ì̂
åÌ[ýÌ^X AEõ×Ì[ý×_Eõ Y×_Eõ»Oô AEõ×»OôC XÌ̂

85. The most reactive of the following metals is ............................
Tö_Tö ×VÌ̂ ç %×WýEõ a×yÔÌ̂  WýçTÇöä$Oôç éc÷ä$K÷ ..................................
XÝä»JôÌ[ý WýçTÇöm×_Ì[ý ]ãWýî %×WýEõ a×yÔÌ̂  WýçTÇö×»Oô c÷_ ......................
(a) Ca (b) Al (c) Ni (d) Pb

86. ....................... dissolves in water to produce sulphuric acid.
............................. YçXÝTö VÐ¾Ý\ÉöTö c÷ã_ K÷ç_×Zõ=×»Eõ A×$JôQö =dY~ c÷Ì̂ *
.................... Lã_ VÐ[ýÝ\ÉöTö c÷ã_ aç_×Zõ=×Ì[ýEõ A×aQö =dY~ c÷Ì̂ *
(a) SO

2
(b) S (c) SO

3
(d) 2S

87. Biogas is a mixture of .....................
éL¾ åG$K÷ ............................ » ×]`ÒS*
éL[ý Gîça ......................... AÌ[ý ×]`ÒX*
(a) methane + CO

2
(b) methane + CO (c) ethane + CO

2
(d) ethane + CO

×]ãUX + CO
2

×]ãUX + CO +ãUX + CO
2

+ãUX + CO
88. Incomplete combustion of a fuel gives ................

+µùX» %a¶YÉSï Vc÷XTö ............................ =dY~ c÷Ì̂ *
+µùãXÌ[ý %a¶YÉXï Vc÷ãX ........................ =dY~ c÷Ì̂ *
(a) CO (b) CO

2
(c) SO

2
(d) Oxides of nitrogen

Xç+®ÏôãLX» %jç+Qö
Xç+®ÏôãLãXÌ[ý %jç+Qö
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89. Ozone consists of ......................
%LXTö .................................... %çä$K÷*
%LãX ............................ %çäK÷*
(a) three carbon atoms (b) three oxygen atoms

×Tö×X$Oôç Eõç[ýïX Y»]çSÇ ×Tö×X$Oôç %×jãLX Y»]çSÇ
×TöX×»Oô Eõç[ýïX YÌ[ý]çSÇ ×TöX×»Oô %×jãLX YÌ[ý]çSÇ

(c) one carbon atom and two oxygen atoms (d) one oxygen atom and two hydrogen atoms
A$Oôç Eõç[ýïX Y»]çSÇ %ç»Ó VÇ$Oôç %×jãLX Y»]çSÇ A$Oôç %×jãLX Y»]çSÇ %ç»Ó VÇ$Oôç c÷ç+QÎöãLX Y»]çSÇ
AEõ×»Oô Eõç[ýïX YÌ[ý]çSÇ A[ýe VÇ×»Oô %×jãLX YÌ[ý]çSÇ AEõ×»Oô %×jãLX YÌ[ý]çSÇ A[ýe VÇ×»Oô c÷ç+QÎöãLX YÌ[ý]çSÇ

90. Nonmetals + acids   ..............................
%WýçTÇö + A×$JôQö   .................................
%WýçTÇö + A×aQö   .................................
(a) react slowly (b) react violently (c) react moderately (d) no reaction

_çãc÷-_çãc÷ ×[ý×yÔÌ̂ ç c÷[ý TöÝ[ýÐ ×[ý×yÔÌ̂ ç c÷[ý ]Wýî]ÝÌ̂ ç ×[ý×yÔÌ̂ ç c÷[ý åEõçãXç ×[ý×yÔÌ̂ ç Xc÷Ì̂
WýÝãÌ[ý WýÝãÌ[ý ×[ý×yÔÌ̂ ç c÷ã[ý TöÝ[ýÐ ×[ý×yÔÌ̂ ç c÷ã[ý ]çMõç×Ì[ý WýÌ[ýãXÌ[ý ×[ý×yÔÌ̂ ç c÷ã[ý åEõçãXç ×[ý×yÔÌ̂ ç c÷ã[ýXç

91. Which of the following is not true for chemical fertilizers ?
»çaçÌ̂ ×XEõ aç»» ålùyTö Tö_» åEõçXä$Oôç aTöî Xc÷Ì̂  ?
Ì[ýçaçÌ̂ ×XEõ açãÌ[ýÌ[ý ålùäy XÝä»JôÌ[ý åEõçX×»Oô aTöî XÌ̂  ?
(a) They are nutrient specific

A+ã[ýç»Tö ×X×VÛrô åYçbEõ UçãEõ
A+m×_ãTö ×X×VÛrô åYçbEõ UçãEõ

(b) They are readily soluble in water
A+ã[ýç» ×lùYÒTöçã» YçXÝTö VÐ¾Ý\ÉöTö c÷Ì̂
A+m×_ VÐÓTö Lã_ VÐ[ýÝ\ÉöTö c÷Ì̂

(c) They provide organic matter (humus) to the soil
A+ã[ýçã» ]ç×$OôTö éL¾ YVçUï (×c÷=]ç$Jô) å^çGçX Wýã»
A+m×_ ]ç×»OôãTö éL[ý YVçãUïÌ[ý (×c÷=]ça) å^çGçX WýãÌ[ý

(d) Overuse of chemical fertilizers pollute the soil.
%Töîç×WýEõ »çaçÌ̂ ×XEõ aç» [ýî¾c÷ç» Eõ×»ã_ ]ç×$Oô YÒVÉ×bTö c÷Ì̂
%Töîç×WýEõ Ì[ýçaçÌ̂ ×XEõ açÌ[ý [ýî[ýc÷çÌ[ý EõÌ[ýã_ ]ç×»Oô YÒVÉ×bTö c÷Ì̂

92. Cell membrane is composed of ..................
åEõçbç¾»S .............................. å» G×PöTö*
åEõçbç[ýÌ[ýS ......................... ¥çÌ[ýç G×PöTö*
(a) lipids and starch (b) lipids and proteins (c) lipids and sugars (d) sugars and proteins

×_×YQö %ç»Ó å`ŸTöaç» ×_×YQö %ç»Ó YÒ'×$OôX ×_×YQö %ç»Ó `Eïõ»ç `Eïõ»ç %ç»Ó YÒ'×$OôX
×_×YQö A[ýe å`ŸTöaçÌ[ý ×_×YQö A[ýe YÒ'×»OôX ×_×YQö A[ýe `EïõÌ[ýç `EïõÌ[ýç A[ýe YÒ'×»OôX
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93. Mitochondria help in the process of ....................
]ç+$Oô'Eõ×‰ø̃Ì̂ ç+ .................................. YÒ×yÔÌ̂ çTö ac÷çÌ̂  Eõã»
]ç+»Oô'Eõ×‰ø̃Ì̂ ç+ .................................. YÒ×yÔÌ̂ çÌ̂  ac÷çÌ̂  EõãÌ[ý
(a) Protein synthesis (b) respiration (c) photosynthesis (d) transpiration

YÒ'×$OôX aeä`ÀbS `ŸaX açã_çEõ aeä`ÀbS YÒãØ‘öVX

94. Which of the following is represented by 'X' in the figure given below ?
Tö_Tö ×VÌ̂ ç ×$Jôy» 'X' åÌ̂  Tö_» åEõçXä$OôçEõ [ýÇLçÌ̂  ?
×»Jôäy åVCÌ̂ ç 'x' XÝä»JôÌ[ý åEõçX×»OôãEõ [ýÇLçÌ̂  ?

Living things
None

Living things

L QÍöLÝ¾
X

(a) protozoa (b) bacteria (c) virus (d) algae
YÒ$OôãLç¾ç å[ýãkô»ÝÌ^ç \öç+»ç$Jô å`_ç+
æYÒç»OôãLçÌ̂ ç å[ýãkô×Ì[ýÌ̂ ç \öç+Ì[ýça é`[ýç_

95. Conservation of resources means ........................
a¶YV ae»lùS ]çãX ........................................
a¶YV aeÌ[ýlùS ]çãX .......................................
(a) maintaining the earth's resources in their state

YÒçEÊõ×TöEõ a¶YV a]Éc÷» ]É_ %¾Øšöç [ýTöÛç+ »Fç
YÒçEÊõ×TöEõ a¶YV a]Éc÷ãEõ ]É_ %[ýØšöçÌ̂  [ýLçÌ̂  Ì[ýçFç

(b) using resources not in a wasteful manner
a¶YV a]Éc÷Eõ %Y$JôÌ̂ ]É_Eõ \öçã[ý [ýî¾c÷ç» Eõ×»[ý Xç_çãG
a¶YVa]Éc÷ãEõ %Y»JôÌ̂ ]É_Eõ \öçã[ý [ýî[ýc÷çÌ[ý Eõ×Ì[ýãTö _çãG Xç

(c) using earth's resources wisely (d) both 'b' and 'c'
YÒçEÊõ×TöEõ a¶YV]Éc÷» a×PöEõ [ýî¾c÷ç» 'b' %ç»Ó 'c' =\öÌ̂
YÒçEÊõ×TöEõ a¶YVa]Éãc÷Ì[ý a×PöEõ [ýî[ýc÷çÌ[ý 'b' A[ýe 'c' VÇ×»Oô+

96. Which of the following is a 'Kharif' crop ?
Tö_» åEõçXä$Oôç "Fç×»Zõ' `aî ?
XÝä»JôÌ[ý åEõçX×»Oô "Fç×Ì[ýZõ' `aî ?
(a) Potato (b) Barley (c) Maize (d) Wheat

%ç_Ç [ýç×_ï åGç]WýçX åHg§
%ç_Ç [ýç×_ï \Éövôç G]

LQÍö
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97. Which of the following letters will be seen without any change in a plane mirror ?
Tö_» åEõçXä$Oôç %çF» a]Tö_ VçãYçXTö AãEõ åV×F ?
XÝä»JôÌ[ý åEõçX %lùÌ[ýãEõ a]Tö_ VYïãX AEõ+\öçã[ý åVFç ^çã[ý ?
(a) S (b) T (c) L (d) P

98. Which of the following is a viral disease ?
Tö_» åEõçX×[ýWý \öç+»ç$Jô L×XTö å»çG ?
........................ \öç+Ì[ýçaL×XTö åÌ[ýçG*
(a) AIDS (b) Tetanus (c) Whooping cough (d) cholera

A+Qö$Jô WýXÇrôeEõç» =V Egõçc÷ Eõã_»ç
A+Qöa WýXÇrôeEõçÌ[ý aÇe×QÍöEõç×` Eõã_Ì[ýç

99. Which of the following statements is true ?
Tö_» åEõçXä$Oôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX×»Oô =×Nþ aTöî ?
(a) Xylem cells transport food. (b) Phloem cells transport water

Lç+ã_] åEõçãb FçVî Y×»[ýc÷X Eõã» ænõçã¾] åEõçãb YçXÝ Y×»[ýc÷X Eõã»÷
Lç+ã_] åEõçb FçVî Y×Ì[ý[ýc÷X EõãÌ[ý ånõçãÌ̂ ] åEõçb L_ Y×Ì[ý[ýc÷X EõãÌ[ý

(c) Phloem cells transport food (d) All of these
ænõçã¾] åEõçãb FçVî Y×»[ýc÷X Eõã» %ç$Oôç+ãEõ+$Oôç
ånõçãÌ̂ ] åEõçb FçVî Y×Ì[ý[ýc÷X EõãÌ[ý a[ýEõÌ^×»Oô

100. The hormones secreted by pituitary gland are ......................
×Y$OÇô+$Oôç»Ý GÐ×ÜšöãÌ̂  ×Xfa»S Eõ»ç c÷»]S éc÷ä$K÷ ..........................*
..................... ×Y»OÇô+»OôçÌ[ýÝ GÐ×Üšö åUãEõ ×Xfa×Ì[ýTö c÷CÌ̂ ç c÷Ì[ý]X*
(a) growth hormones (b) hormones for the absorption of water

[ýÊ×ˆù c÷»]X YçXÝ å`çbS Eõ»ç c÷»]X
[ýÊ×ˆù c÷Ì[ý]X YçXÝ å`çbS EõÌ[ýç c÷Ì[ý]X

(c) hormones which stimulate other endocrine glands. (d) all of these
%Xî X_Ý×[ýc÷ÝX GÐ×Üšö a]Éc÷Eõ =ãwø×LTö Eõ»ç c÷»]X %ç$Oôç+ãEõ+$Oôç
%Xî X_Ý×[ýc÷ÝX GÐ×Üšö =ãwø×LTö EõÌ[ýç c÷Ì[ý]X a[ýEõÌ^×»Oô

XXXXXX
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